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Skills Worksheet

7.3 Directed Reading
Section: Natural Selection in Action



1.
Bacteria passing resistance to a medicine on to offspring is an example of


a.
natural selection.
c.
genetic change.


b.
chemical action.
d.
overproduction.

Changes in Populations



2.
What does natural selection explain about a population?


a.
how long it has been since it evolved


b.
how it changes in response to its environment


c.
how it resists change


d.
how likely its members are to leave fossils



3.
Which individuals in a population are most likely to survive and reproduce?


a.
the largest ones


b.
the ones with the most DNA


c.
the well-adapted ones


d.
the oldest ones



4.
The growing rate of tuskless elephants in Uganda is an example of


a.
selective breeding.
c.
adaptation.


b.
luck.
d.
speciation.


5.
Why are tuskless elephants becoming more likely to reproduce than ones with tusks?


6.
Why does an insecticide that used to work well no longer affect an insect population?


7.
Insect populations can evolve quickly because insects produce many offspring and have a ______________________


8.
The period of time between the birth of one generation and the birth of the next is known as the ______________________


9.
In many species, female birds prefer to mate with ______________________ males.

Directed Reading A Continued


10.
Why will the proportion of colorful male birds likely increase from generation to generation?

Forming a New Species

Match the correct description with the correct term. Write the letter in the space provided.



11.
the formation of new species



12.
changes in response to the environment



13.
the loss of ability of separated groups to interbreed



14.
the moving apart of populations


15.
When part of a population becomes separated from the rest, ______________________often begins.


16.
Through adaptation, members of separated groups may develop different ______________________.


17.
If environmental conditions differ, ______________________will also differ.


18.
When members of two separated groups of a population can no longer interbreed, the two groups are members of different _____________________

	a.	adaptation


	b.	division


	c.	separation


	d.	speciation
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